0907231 Digital Logic (Fall 2008)

Quiz 2C
الاسم:




رقم التسجيل:
 

رقم الشعبة:

===========================================================================

Instructions: Time 5 minutes. Closed books and notes. No calculators. No questions are allowed.

Q. The following two 8-bit numbers are signed binary numbers using 2’s complement.

a) Find their sum.


b) Is there any overflow?
     10000011

      10010011
    + 10001001

     ----------

      00011100


The sum is 00011100.


There is overflow because the two most significant carries are similar (10).

.
<Good Luck>
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